2800

3000

100,109

1 g@dogo dg@®o Loydpgbo ggoeols 139308035300
(0.0+h=2.5 9 0.0-h=0.5 9)

40
H 1 g@dogo dg@Bdo Logdegbo ggoeol 1393090455300
+2.500
3mboz0o sbobgegds MomEgbmds fmbs 3a/g@m.
6 ? O S(HMMO
: 1 10  Alll 1=2980 5 1.9
2 20 Alll 1=3270 5 5.1
4 18  Alll 1=2100 5 4.2
00 5 8 Alll 1=2080 5 0.9
//2_ 6 8 Al I=1000 5 0.4
/ 8 Al I=1000 S5 0.4
8 8 Al I=1000 4 0.4
= = 9 | 8 A I=1000 4 0.4
9B mbo
dgH™bo genslo B 25 0.8 M3
: NeoJe
>M3do@@ols ¢fgobo
obobgengds Fmbs 3a.
8 ofe 10 Alll 1=2980 9
e I 20 Al 1=3270 40
| /m =N 18 _Alll 1=2100 21
9 L |5 ) 8 Al 1=2080 4
boxo 600 8 Al =1000 7
500|200 | 1400 bygee: 51
- 2100

‘dgbodgbs: bmdgdo Imzgdygeros JogodgB@godo

2015

AdSLIS: | DSHOKR0
20
S. 33®0dJ

1:

IBHS30

W.D.

3.

[TORTIA
a.

BIOGIRO
01S 01

GIASLAIRS

3. 6dm0dI

1539B0BO3SGOS

bIRIIN3S6IR0

L.T.D "MBC"

d.3.. "33-0-0"

d. BIORORO IR, 3IBbMBME0
LOIARIBO 3IRKRIBOL 3MVIMdS

MBC




